ITI Surveyor 1st Year Module 7 Transverse using theodalite

(1). What is the name of the traversing method in theodolite survey? |

fraSiarge wdeor & ¢aRfn fafy wram e g?
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(A) Included angle method | 3ffaike oo fafd
(B) Azimuth method | Hﬁﬂﬁqm

(C) Deflection method | ﬁeﬁwﬁﬁﬁ

(D) Direct angle method | gge o fafd

Correct Answer : A

(2). What is the variation of deflection angle? | ﬁWWﬁﬁ-ﬁﬂTW%’r‘
(A) 0°to 180°

(B) 90°to 270°

(C) 180°to 360°

(D) 0°to360°

Correct Answer : A



(3). Which method is suitable for closed traverse in theodolite survey? |

RaTeiamse Tdemr ¥ de ¢ad & fore i 4t faftr Suga g2
(A) Loose needle method | @il g fafdr

(B) Fast needle method | doT g3 fafd

(C) Direct method | ST ARIBT

(D) Included angle method | 3{idep 1T fafd

Correct Answer : D

(4). Which is natural error? | ngﬁﬁ:{?ﬁg?
(A) Wind effect | 8dl T YHId

(B) Slipin screws | @@mﬁ'{

(C) Inaccurate levelling | TTed aateiT

(D) Improper setting | &Iﬂﬁﬁ@ﬁ'ﬂ

Correct Answer : A

(5). What is rise or fall, if back sight reading taken on B.M is 2.045m and inter
sight on point =2.68m? | ISST YT HId &1 81T, 3R B.M TR feraT a1 9
& 2.045m § 3R foig W IR 15T = 2.68m §?

(A) -0.735 fall | -0.735 ToId
(B) -0.635 fall | -0.635 Wil
(C) +0.735 Rise | +0.735 XISV

(D) +0.635 Rise | +0.635 X[V

Correct Answer : B



(6). What test is that the vertical circle indicate zero while the line of sight is
perpendicular to the vertical axis in theodolite? | wuﬂw%ﬁagw‘m%
I &1 3T BT | Sah =Y B a1 FASiarge & S@aieR 3ef & daad o?

(A) Bubble tube adjustment test | A RIS JHTIS URIE0T
(B) Collimation test | PHIHIA X

(C) Vertical arc test | SeaieR TTg gefur
(D) Plate level test | @I TIdd URI&UT

Correct Answer : C

(7). What is the formula used to find reduced bearing of traverse line? | SIJU¥

a1 3 ey fqufie 31a 3 & for forg gt o1 SuanT e S 32
(A) tan (D/L)
(B) tan (DxL)
(C) tan (D-L)

(D) L:—D:

Correct Answer : A

(8). What is R.L of point, if the height of collimation level 103.450m and inter sight
reading on point 1=2.680m? | TTE BTSC 31 HICTHRM = 103.450m 3R e
arze AfETM =1, 2.680m §, A A HTR.L AT R?

(A) 106.130m
(B) 105.130m
(C) 100.077m
(D) 100.77m

Correct Answer : D



(9). What is the whole circle bearing, if the reduced bearing of N 74°05’25”W? |

gfg N 74°05'25"w Reggel foafar g, i gid I foafr & ghft
(A) 285°53'25"
(B) 285°54'35"
(C) 285°54'45"
(D) 285°53'35"

Correct Answer : B

(10). Find the error of angle if the sum of the observed interior angle of the
traverse is DA+DB+DC+DD = 110°+63°+130°+53°. | PHIUI &I FfC T Tl L TG
3IIURY & 3R BHIVT BT AT DA+DB+DC+DD = 110°+63°+130°+53°.5 |

(A) -1°
(B) +4°
(C) -4°
(D) +1°

Correct Answer : B

(11). What is rise or fall if inter sight on point 4 is 2.975m and fore sight on point 5
is =2.860m? | TG foig 4 TR $eX ASC 2.975m ¢ 3R fdg 5 TR IR ASC = 2.860m
2 Y S T BTel §NTI ?

(A) +0.115 Rise | +0.115 X[Vl
(B) +0.835 Rise | +0.835 X9V
(C) -0.835 fall | -0.835 Wil

(D) -0.115 fall | -0.115 Bl



Correct Answer : A

(12). What is the formula used to find the length of traverse line? | GIEWWT
&1 TaTS AT DR & (T8 [ 3 T STANT fodlT STl g2

(A) L2+D?

(B) L2-D?

() AR

(p) DA

Correct Answer : C

(13). What test is that the line of sight perpendicular to the horizontal axis in

theodolite? | I IT UL&01 & TR s 31T Ase Raeiarse § afds siaf b
SECCEE

(A) Cross hair ring test | B %qﬁ UL
(B) Plate level test | W Idd URI&T

(C) Collimation test | HIATHIA e

(D) Spire test | TR TLIef0T

Correct Answer : C

(14). What is RB, if the W.C.B is 135°00°00”? | Tf¢ W.C.B 135 ° 00'00 &, Tl RB &I
87

(A) N 45°00'00"E

(B) S 45°00'00"E

(C) S45°00'00"W



(D) N 45°00°00"W

Correct Answer : B

(15). What formula is used with arithmetical check in height of collimation

method? | BT3¢ 3 HIfTHIA [AfY | Wﬁ%ﬂqmﬁﬁﬁ
IUANT fosaT ST 87

(A) IB.S-3F.S=LastR.L—FirstR.L

(B) B.S+3F.S = Last R.L— FirstR.L

(C) B.S—F.S=LlastR.L—FirstR.L

(D) 2B.S+XF.S =Rise - Fall = Last R.L — First R.L

Correct Answer : A

(16). Which method is the eccentricity of the spindle eliminated by reading both

vernier in theodolite? | fﬁﬁ@wﬁ#ﬁaﬁwﬁwwﬁﬂé
RS ot oA i fafd 82

(A) Reiteration method | W‘fﬁlﬁf
(B) Ordinary method | gy fafdr
(C) Direct angle method | Ude oiur fafy

(D) Deflection method | faergur fafe

Correct Answer : B

(17). What is the difference of level if dumpy level is at mid point C Staff reading

on A = 1.580m Staff reading on B =1.220m? | ”ﬁ@ﬁ@ﬂﬁq?ﬂﬁg Ctl?%?ﬁ
Aad BT 3R AT 2 Tl A W WTh JfET = 1.580 Hicx Afe B R T f -
1.22011'3?

(A) 2.700m



(B) 1.360m
(C) 0.360m
(D) 0.630m

Correct Answer : C

(18). What is RB, if the W.C B is 225°00°00”? | Tf& W.C B 225 ° 00'00 &, il RB &I
87

(A) N 45°00'00"E

(B) S 45°00'00"E

(C) S45°00'00"W

(D) N 45°00'00"W

Correct Answer : C

(19). What is the co-ordinate of a line AB.observed radially from station A, whose

W.C.B is D45°00°00”? | TTST AB ] PI-3e-Ic o1 ST ol WX A I ST

3NTod BHI1 W ITB! WCBDA5°00°00” &

(A) -70.71m
(B) +70.71m
(C) -71.70m
(D) +71.70m

Correct Answer : B

(20). How to calculate the height of collimation? | 8ISC 3T PIfCTHRA Bt U]
AR RN



(A) R.L of Bench mark + Back sight reading | S AT T 3R, Jad. + Sh SIEE

(B) R.Lof Bench mark—1.S reading | S AT &1 3R, Ud. - I.S. AfST
(C) R.Lof Bench mark—F.S reading | CER G 3HR.Ud.- Uh Uy, AfST

(D) R.Lof Bench mark — Back sight reading | S AT BT 3R, Jd. - Sh glgc

dfgn

Correct Answer : A

(21). What rule is applicable so that the total error in latitude and departure is
distributed in proportion to the latitude and departure of the traverse line? | I

T AN BIAT § dTfch 318MT=T 3R URUTH & St M T &R T 3R U= ¥
o 3fgura d faafkd fasar smee

(A) Graphical method | Ty fafdr

(B) Axis method | U@Hﬂﬁf‘a

(C) Transit rule method | ET%I’C’WW
(D) Compass rule method | HHY 5d [afd

Correct Answer : C

(22). What is the closing error(e) (Sum of the latitude (L)=-24.2495m Sum of the
departure(D)=-29.7592m)? | TSI I (e) FIT GV TS (STEITRT (L) T ANT = -
24.2495 Ht YT fSUTER &1 TN (D) = - 29.7592m) B?

(A) 37.4168
(B) 38.4186
(C) 38.4168
(D) 39.4168



Correct Answer : C

(23). Which method without transiting gives the best results even while the
theodolite instrument is not in perfect adjustment by traverse survey? | EA'II\hrlIé‘I

& forT 1 4t fafty we sres1 uRomd <t § STafes RiEiage Sueur S
e gRT et HRISH § 81 87

(A) Loose needle method | ﬁ?ﬁﬁéﬁfﬁ

(B) Fast needle method | ?I\_rfﬁgﬁlﬁf

(C) Direct method | TieT aetepT

(D) Included angle method | 3ffa® Hivr fafd

Correct Answer : C

(24). What is the difference in level if back sight of reading 3.370m inter sight of

reading 2.975m? | 2.975m HG:I P 3R P 3.370m qﬁﬁ%’f@ﬁ%%@ﬂﬁ
o SR g2

(A) +0.395 (Rise) | +0.395 (3cY)
(B) -0.395 (fall) | -0.395 (FRTae)
(C) +0.295 (Rise) | +0.295 (3cd)
(D) -0.295 (fall) | -0.295 (RIRTde)

Correct Answer : A

(25). Which method is useful for measuring precisely a number of horizontal angle
from a single station point in theodolite instrument? | fﬁq\ls\lﬂISC SUDBIU H

Tohd W foig I &fas Hivr &) e &) 119A & forg o1 4 fafd Suanft 82
(A) Reiteration method | Wﬁﬁ[




(B) Ordinary method | gy fafdr

(C) Repetition method | Wﬁfﬁlﬁf
(D) Direct angle method | Uae ST fafd

Correct Answer : A

(26). Find the back bearing AB if bearing of AB is 30°. | gfe AB BTN 30°° %,

dl AB &1 9 SR gl |
(A) 180°
(B) 150°
(C) 210°
(D) 280°

Correct Answer : C

(27). Which method, the error is not carried over to the other span in prolonging
line by theodolite? | 1= Tt fafd, e ! FAAISIeMse gRT avel e H ¥R R
IR T8} o ST STl 82

(A) Methods | | fafer

(B) Methods Il | faf&r
(C) Methods 11l | faf&r i
(D) Methods IV | faf&r v

Correct Answer : B

(28). What is the reduced level of A, if reduced level of bench mark = 100.000m
Reading of bench marks =0.745m, height of object (h) = 7.160m? | A CAR I CIR|



I 1 o Tl dF AT BT Rggel dad = 100 m. ¥ §F 1 Bt AT = 0.745 m.

I B! TS (h) = 7.160 m.

(A) 107.805m
(B) 107.905m
(C) 106.805m
(D) 106.905m

Correct Answer : B

(29). What is the height of Tee beam above the floor level if height of collimation
of level on the floor 102.385m, inverted staff reading of the bottom of Tee beam -

3.890m and R.L of floor level 100.595m? | TI¢ AR o dd P! BI3¢ 3AH
PICTHR 102.385 Hiex 8, dl &1 §1H & SicH Pl Iec LI i ST =3.890 A
3R ARUA & dd BT Add 100.595 HICT &, Pl TR ddd A SHUR T-81H B HdATg
R E?

(A) 5.860m

(B) 5.680m
(C) 5.780m
(D) 5.870m

Correct Answer : B

(30). How many methods are there for prolonging a line by theodolite? |

fSIaTge gRT U W1 &l T H & fhd deid &2
(A) 2 methods | 2 faferar
(B) 3 methods | 3 faferar

(C) 4 methods | 4 fafdrar
(D) 5 methods | 5 faferar



Correct Answer : B

(31). What test is that the vertical and horizontal cross hair lie in a plane
perpendicular to the horizontal axis in theodolite? | Wqﬁ&m%ﬁ?ﬁo"iﬂf‘éﬁ 3R

&faS B9 91 T Wi- H daad 3fef H FUaisiage I @idad gid o2
(A) Cross hair ring test | $h19 8aR 1 ¢

(B) Plate level test | ®IC eidel URI&TOT

(C) Collimation test | PIGTHTA X

(D) Spire test | TR TIT&T

Correct Answer : A

(32). Which method if the eccentricity of vernier is eliminated by reading both

vernier in theodolite? | 3R fﬁ\’rl\ls\lﬂlid ﬁaﬁaﬁmﬁuﬁ@aﬁr{ﬁ
fOT& T AT 81 STl & o) i 91 fafd g 2

(A) Ordinary method | gy fafer
(B) Deflection method | faegur fafe
(C) Direct angle method | UI& HIvT fafd

(D) Repetition method | Eﬁ?ﬁﬁ[ﬁf‘a

Correct Answer : A

(33). What is the height of collimation if reduced level of point A= 100.000m. Back
sight at point A = 2.750m? | Tfq fdg A TR JHMIA dd = 100.000 m dl B1EC 3
HITCTHR FT BT fig A TR 9% T3¢ = 2.750 Hiex @

(A) 12.750m
(B) 98.250m



(C) 102.750m
(D) 101.750m

Correct Answer : C

(34). Which method is most suitable for traverse in compass survey? | PHIY

gdemr § ¢ay & forg o1 It fafy T Sugad 82
(A) Transit rule method | GifoTc % fafdy

(B) Bowditch’s rule method | Sied & f=aH fafdr
(C) Graphical method | @ fafe

(D) Axis method | TfeRr fafdr

Correct Answer : B

(35). What is the name of term that the fundamental axis going out of adjustment

in theodolite? | <Teg BT dg -ITH &1 & ol JAYd & I RSArge & THRISH
A ER ! AR B 82

(A) Natural error | Wiﬁ

(B) Personal error | Btr%magi%

(C) Instrumental error | Wﬁ%
(D) Temperature error | Wﬂﬁﬁ%

Correct Answer : C

(36). What test is that telescope bubble central while the line of sight is horizontal

in theodolite? | SfORDIY FacT el BT T TN&U § STaifb €fP 1 3@T
RieiaEe ¥ dfaw 22

(A) Bubble tube adjustment test | AN RId TG URIE0T




(B) Collimation test | HIATHIA ¢
(C) Vertical arc test | SeaieR TTg gefour
(D) Plate level test | Wi odd UI&o

Correct Answer : A

(37). What is reduced level, if height of line of collimation is 98.717m and inter

sight is 1.238m? | 99 Qo a1 8, afe gATWd ot @1 &1 SHams 98.717 HI 3R
R efd 1.238 Hi g2

(A) 96.389m
(B) 97.389m
(C) 97.479m
(D) 97.379m

Correct Answer : C

(38). What test is that the horizontal axis perpendicular to the vertical axis in the

theodolite? | 1 AT TRI&UT & fora® &fast 3ref FRISIage H S eafer g &
KISEREE:

(A) Cross hair ring test | HIg e
(B) Plate level test | e TR g&0l
(C) Collimation test | HIATHIA e
(D) Spire test | TR TLI&f0T

Correct Answer : D

(39). What is the bearing of BC (Bearing of line AB =140°00’00”DB = 73°45’00")? |

BC o1 foaReT o1 gl T arg— 1 faafaT AB = 140°00°00 “BB = 73°45'00")? *



(A) 33°45'00"
(B) 33°00'00"
(C) 32°45'00”
(D) 32°00'00”

Correct Answer : A

(40). What is the difference in level if back sight reading 1.430m and inter sight
reading 2.015m? | TTGd H 3R FT & TG 9P WIZC = 1.430m 3R FeX WIEC =
2.015m?

(A) +0.585(Rise) | +0.585(31301 )
(B) -0.585(Fall) | -0.585(%hIdl )
(C) +0.558(Rise) | +0.558(XT3T )
(D) -0.558(Fall) | -0.558(%IdT )

Correct Answer : B

(41). What is the corrected included angle at A if observed included angle of A'is
95°00’00” the correction should be applied each angle is -01°15’00”? | A f[ﬂ%o[
3TN HI0T 1§ 3R A HIUT 7T TR BHI0T 95 ° 00'00 § TAH DIV TR -01 °
15'00” 1 YR fooar 7 2

(A) 94°45'00"
(B) 93°45'00"
(C) 95°15'00”
(D) 96°45'00”

Correct Answer : B



(42). What is RB, if the W.C.B is 315°00°00”? | Tf¢ W.C.B 315 ° 00'00 §, Tl RB &I
87

(A) N 45°00'00"E

(B) S 45°00'00"E

(C) S45°00'00"W

(D) N 45°00'00"W

Correct Answer : B

(43). What is the error if sum of the observed included angles of the traverse
95°00'00”+75°00’00”+125°00’00"+70°00’00” | Jc1 AT BT Al o o HIU Y
3TN Bl BT AT 95°00°00”+75°00’00”+125°00’00”+70°00°00” T

(A) -05°00'00"

(B) +05°00'00"

(C) -05°05'00"

(D) +05°05'00"

Correct Answer : B

(44). What test is that the bubbles control to run while the vertical axis of the

theodolite is truly vertical? | ﬁqwqﬁ&m%ﬁmﬁ gmga CIENIE! %]%’I'Q
=T @ Safds Rsidrse & S@ieR 3féf arad H SHeier 82

(A) Cross hair ring test | B %qﬁ e
(B) Plate level test | W ad URI&T

(C) Collimation test | HIATHIA e

(D) Spire test | TR TLIef0T

Correct Answer : B



(45). What type of method is the displacement of signal are not eliminated in

horizontal measurement? | %ﬁamﬁ%%ﬁ@ﬂmﬁmwﬁﬁfﬁ
T el fohan Srar g2

(A) Ordinary method | TryRr fafer

(B) Repetition method | W&fﬁﬁf

(C) Deflection method | ﬁeﬁwﬁf@r

(D) Direct angle method | el Hior fafd

Correct Answer : B

(46). What is the purpose of focussing is done in theodolite? | AcAR kAl 3%52?1
fyaneifere o o fopam oaT g2

(A) Eliminate parallax error | Wg@ﬁﬂtﬂﬂﬁ

(B) Eliminate instruments error | Wﬁﬁg@ﬁ%ﬁ
(C) Minimize the error | gi%ﬁwﬁ

(D) Eliminate the error | ﬁﬁWﬁ

Correct Answer : A

(47). What is the height, if the horizontal distance between two points is 19.950m

and observed angle of elevation is 19°44’45"? | qﬁﬁﬁﬂ%@ﬂﬁ@
19.950 HIeR § 3R ATT T TSIA=M PI0T 19 © 44'45” B, AN G4 fogdl b §1d Bl

e

(A) 6.160m
(B) 6.610m
(C) 7.160m



(D) 7.610m

Correct Answer : C

(48). Which is personal error? | HfTd ﬁ% GI’?I"I ?ﬁ%?
(A) Eccentricity of vernier | Wﬁﬁw

(B) Inaccurate sighting | TIFHFI_Q"%’T

(C) Temperature | dUHIA

(D) Atmospheric | aT%@Fﬂ'q

Correct Answer : B

(49). What is the reduced bearing of closing error (Sum of the latitude (L)=-

24.2495m | AR IS o1 gl [TaiTT 31§ (S1&=T BT TN (L) = -24.2495 H
(A) 50°49'30"
(B) 50°30'49"
(C) 49°49'30"
(D) 49°30'49"

Correct Answer : A

(50). What is the variation of direct angle? | W&rﬁwﬁmﬂw%?
(A) 0°to 180°

(B) 90°to 270°

(C) 180°to 360°

(D) 0°to 360°

Correct Answer : D






